


e, op (MO L (NN = C _ + A(X) [x = (x)
dx d

/l,\

dVLI NnPoRauM A

\Eq@ n &f\uﬁk{)&@'lm 8 evod &\QPWLD) W dnoio Q)piﬁl(—"ﬁm

(m&fm @e’o}mppqe\oxs T« 9)\,«-

ws Nia %QEQ S 8 —T.

L = @uvaﬁcm\ o e
QPQDQ ) @({S)

n
1

> L’c=— ab) \ua.gn.'os wou

M > oPUMUE» o P\o mﬂ:odm TW

b,uo@«
’_c’._;g;/: -‘L ST '_Q ANE ﬂou z‘?é)

— ! “'" bmﬂ}wm sud | pohs

EU&“{S& B(—mQO)n’

T @% R LY
We  npe W
i A

8&)) : [e>0|
O F LD = kT[
oA

;

PpREaEs




10+

IS

@ Mo oo Mx. SvnSud @
@) 2 Jc~0) T+C = 2T =9 QK-/%?




L'V\ 9({’) = QJVYI

£ 2 too tateo

8
w2y

|
(‘ﬂ— AT-<

—

O\,




